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Proof of part 2.

Let (An)n ∈ I be a partition of X , and we say xRy if and only if there is a
single An such that x , y both in An.
We will show that R is an equivalence relation.

refl. Let x ∈ X . Then x ∈ An for some n, and thus xRx .
sym. Let xRy . Then by definition there is an n such that x , y ∈ An, but
then y , x ∈ An and yRx .
trans. Let xRy and yRz .

Since xRy , there is Ak with x , y ∈ Ak .
Since yRz, there is A` with y , z ∈ A`.
Since y ∈ Ak and y ∈ A`, y ∈ Ak ∩ A` and thus Ak ∩ A` 6= ∅.
Thus Ak = A` (partition!!) and x , y , z ∈ Ak so xRz.




